IRRATIONAL NUMBERS ON THE NUMBER LINE

Name: 








1.  Using the Pythagorean theorem, find the length of the hypotenuse of the triangle in the diagram above.









hypotenuse = 




2.  Using a compass form an arc from the top of the triangle to the horizontal axis and mark the point.  The value of this point is 
[image: image1.wmf]2

.  Explain why.

3.  Create a new right triangle with the 
[image: image2.wmf]2

 as the base and a height of 1 unit.  What is the length of the new hypotenuse?  









hypotenuse = 




4.  Using a compass form an arc from the top of the triangle to the horizontal axis and mark the point.  What is the value of this point on the number line?









value = 




5.  Drawing another triangle, find the 
[image: image3.wmf]4

.  Where is this value on the number line?









value = 





Why?

6.  Find the position on the number line for 
[image: image4.wmf]5

and 
[image: image5.wmf]6

 by drawing the appropriate triangles.  Are they greater than or less than 3? 

Why?

7.  How could you find the position on the number line for negative square root values?
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